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mammoth

dinosaur

dodo

large beak

small wings

short legs
big tusks

big head
long hair

long trunk

small head

long neck
huge, heavy body

long tail

short tail

short legs

big ears

Přesuňte slova na správné části těla
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The mammoth ______ very big.

It ______ three metres tall.

It ______ long tusks.

It ______ long hair.

It ______ small ears.

Doplňte was/had.
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Dinosaur had four ________ legs.

It had a ________ neck.

It was _______ and ________.

It had a ______head.

It had a ______ body.

long, big, 
strong, small,
short, huge
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The dodo _______ big bird.

It _______ large beak.

It had ______ tail.

Doplňte věty a použijte slova z rámečku.

It ______   ________ legs.

It ______   ________ wings.

short, was, had,
small, had, short,
had
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The mammoth had long hair. TRUE   FALSE

Today there is elephant in Africa and Asia. TRUE   FALSE

The mammoth was small. TRUE   FALSE

The African elephant has got big ears. TRUE   FALSE

The mammoth had very short tusks. TRUE   FALSE

The African elephant has got very long tusks. TRUE   FALSE

A big elephant is three metres tall. TRUE   FALSE

Označte věty.
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Převeďte věty do množného čísla.

It was very tall. ___________________ very tall.

It had two strong legs. ___________________ two strong legs.

It had small teeth. ___________________ small teeth.

It was big. ___________________ big.

It had short tail. ___________________ short tails.

It had large beak. ___________________ large beaks.

It had long neck. ___________________ large necks.

Its body was huge. ________________________________ huge.

Its head was small. ________________________________ small.
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Minulý čas ­ past simple

be  have 

I  was  had 

you  were had 

he  was  had 

she  was  had 

it was   had

we  were  had

you  were  had 

they  were  had
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Zdroje :

http://upload.wikimedia.org/wikipedia/commons/e/e0/ExtinctDodoBird.jpeg
dodo

http://upload.wikimedia.org/wikipedia/commons/e/e0/extinctdodobird.jpeg
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